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1. Overall Description:
RAN1 thanks RAN4 for the LS R1-2208354(R4-2214972) and would like to provide the following response.

Question 1: 
What is the relationship between   and active UL (or joint) TCI state list? How does network configure the RS resource indexes  ?

Answer to Question 1:
In Rel-17 for unified TCI framework, if a UE is provided TCIState in dl-OrJoint-TCIStateList or UL-TCIstate, PL-RS is associated with or included in TCIState or UL-TCIstate and used as   for obtaining the downlink pathloss estimate for PUSCH, PUCCH, and SRS. 
When up to 8 joint TCI states and/or pairs of separate TCI states are activated, PL-RS can be associated with or included in each activated TCIState or UL-TCIstate in the active UL or joint TCI state list.
For PL-RS configuration, the parameter pathlossReferenceRS-Id is provided in the IE TCI-State or UL-TCIstate and this ID of reference signal (e.g. a CSI-RS config or a SS block) is used to determine the RS resource indexes . 

Question 2: 
Is UE expected to maintain the pathloss RSs of all the pathloss reference RS in the active UL (or joint) TCI list?

Answer to Question 2:
According to RAN1 spec (section 7 in 38.213), a UE does not expect to simultaneously maintain more than four pathloss estimates per serving cell for all PUSCH/PUCCH/SRS transmissions, except for SRS transmissions configured by SRS-PosResourceSet.
Thus, only when the number of pathloss RSs in the active UL or joint TCI list is equal to or less than 4, the UE can maintain all the pathloss RSs in the active UL or joint TCI list.
It can be realized based on network implementation that the number of pathloss RSs in the active UL or joint TCI list is not exceed 4.


Question 3: 
What is the UE behavior when number of active UL (or joint) TCI states is larger than 4 if corresponding pathloss RSs need to be maintained?’

Answer to Question 3:
When the number of active UL or joint TCI states is larger than 4, a UE does not expect that the number of different pathloss RSs associated with or included in these up to 8 active UL or joint TCI states is larger than 4. There may be multiple active UL or joint TCI states with the same pathloss RS.
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2. Actions:
To RAN4 group:
ACTION: RAN1 respectfully requests RAN4 to take the above information into account.


3. Date of Next RAN1 Meetings:
TSG WG RAN1 #111		14th – 18th November 2022	Europe
